nE= eqn =yt +py’ +qy
oulsl= qy + Py +y”
ne= eqn /.y - uV
ougl= qVu+p (V) + (Vu)”
ni= Dla[x] b[Xx], X]
oufil= b[x]a’ [x] +a[x] b’ [Xx]
n7=y'
ou7l= y’
ns= eqn // Full Form
outsy/FulForm=" Pl us [Ti mes [q[x], Y[x]], Times[p([x], Derivative[l][y][x]], Derivative[2][y][X]]
2= Plus[Ti mes[q[x], Y[x]], Times[p[x], Derivative[l][y][x]], Derivative[2][y][X]]
oulizl= q[X] Yy [X] +p[X] Yy [X] +y”[X]
4= (q[X]Y[X] +p[X] Y [X]1+yY”[X] /. y »> uV) // Full Form

outpyFulForm=- Pl us [Times [q[x], Times[V, \[MI] ][x]],
Times[p[x], Derivative[l][Times[V, \[Mu]]]([x]], Derivative[2][Times[V, \[Mi] ]][x]]

5= DLy [x], X]

out[15]= Y’ [X]



